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General Instructions to the Candidate :
This question paper consists of 38 questions in all. *

1.
2.

[ Max. Marks : 80

Cut here /2Q 3303

This question paper has been sealed by reverse jacket. You have to cut
on the right side to open the paper at the time of commencement of
the examination ( Follow the arrow ). Do not cut the left side to open
the paper. Check whether all the pages of the question paper are intact.
Follow the instructions given against the questions.

Figures in the right hand margin indicate maximum marks for the
questions.

The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the question paper.
Ensure that the Version of the question paper distributed to you and
the Version printed on your admission ticket is the same.
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I. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 8x1=8

1. The roots of the equation (x-3) (x+2)=0is

A) (2, -3) B) (-3, -2)

€ (3, -2) (D) (3, 2)

2. The discriminant of the quadratic equation ax® + bx +c=0 is

(A)  b? - 4ac (B) c¢? -4ab

(C) b? +4ac (D) a? + 4ab
3. | sec? A-1 ) is equal to

(A) tan? A (B) cot? A

(C) sin? A (D) cosec? A

4. The distance of the point ( 8, — 3 ) from x-axis is

(A) - 8 units
(B) 3 units
(C) -3 units
(D) 8 units
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S. If the pair of lines represented by linear equations x + ky = 4 and

2x + 4y = 12 are parallel lines then the value of k’is

(A) -2

€ 4 (D) -4

6. In the figure DE || BC. If AD = x, BD = y, AE = m and CE = n,

then the correct relation among the following is

A
X 1Tt
D > E
y n
B = C
X m
A ==
y m+n
X n
B -2
y m
X + m
©) L
X m+n
X m
(D) =
xX+y m+n
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7.

In the figure XY is a tangent to the circle with centre ‘O’ If
Z AOB = 130°, then the measure of | BAY is

oy

M

S
oS
L-q

(A)  90° (B) 25°
(C) S0° (D) 65°

The formula to find the curved surface area of the frustum of a

cone in the given figure is

——

A A=n(r,-r
B) A= nmn(r

€ A

I
a
=~

(D) A = nh(r2+r2+rr
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II. Answer the following questions :

8x1=8

10.

11.

12.

13.

Write the formula to find the nth term of the arithmetic

progression with first term ‘a’ and common difference ‘d’.

The sum of the first 10 terms of an arithmetic progression is 155

and sum of the first 9 terms of the same progression is 126. Then

find its IOth term.

A person buys 3 bats and 2 balls by paying Rs. 960. If a bat costs

Rs. 300, then find the cost of one ball.

Write the empirical relationship between the three measures of

central tendency, Mean, Median and Mode.

Write the formula to find the volume of a sphere having radius
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14.

15.

16.

III. Answer the following questions :

What is meant by abscissa ( x-co-ordinate ) ?

Find the value of cosec (90° -0 ) x cos 0.

If sin 6 = 1, then find the value of cos 6.

8x2=16

17.

In the given figure, PE = 39 cm, EQ = 3 cm, PF = 36 cm and

FR = 2-4 cm. Verify whether EF || QR.

P

39 em 36 cm

3 cm 24 cm
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In A ABC, ABC = 90° and BD 1 AC. If AC = 8 cm and

AD = 2 cm, find the length of AB.

A\
< &o

18. Solve the given pair of linear equations by Elimination method :

x+2y =5

19. Find the sum of first 20 terms of the Arithmetic progression

2, 5, 8, .... using formula.

20. Find the roots of the equation x2 -3x+1=0 using ‘quadratic
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21. If M = 1, then find the value of A.
cosec A

OR

Prove that :

sin 30° . cos 60° + cos 30° . sin 60° = sin 90°

22. Find the coordinates of the point which divides the line segment

joining the points ( - 1, 7 ) and ( 4, - 3 ) internally in the

O

ratio 2 : 3.

=]

23. In the given figure, | ABC =90°. If tan A = 1, show that

2sinA.cosA=1
A

24. Draw a circle of radius 3 cm and construct a pair of tangents to

the circle such that the angle between them is 70°.

8 of 16

RO RO A



| CCE-III-RR/PR/NSR/NSPR(B)/222/9240 | 81-E

Iv.

Answer the following questions : 9 x3=27

25. Examine whether the equation (x-2)(x+1)=(x-1)(x-3)

is a quadratic equation.

26. A train travels 360 km at a uniform speed. If the speed had been

S km/h more, it would have taken 1 hour less for the same

journey. Find the speed of the train.

OR

o . . 1 10 .
If the discriminant of the quadratic equation x + Pl 70 is zero,

then find the value of ‘k’.

27. Prove that “The lengths of tangents drawn from an external point

to a circle are equal”.
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28. The mid-point of the line segment joining the points A (x, 0) and

29.

B(0, y)is (4, 3). Find the length of AB.

OR

81-E

Find the area of a triangle whose vertices are A (5, 2), B(4, 7)

and C(7, —4).

i
a
(O]

Find the mean for the following data :

Class-interval Frequency
10 -20 2
20-30 5
30 -40 6
40 - 50 5
50 -60 2

OR
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Find the mode for the following data :

=]

Class-interval Frequency
0-5 4
5-10 10
10-15 6
15-20 4
20-25 5

O OO OO 1R

30. During the medical check-up of 50 students of a class, their
weights were recorded as follows. Draw a “more than type ogive”

for the given data :

Weight (in kg ) Number of students

( cumulative frequency )

20 or more than 20 50
25 or more than 25 40
30 or more than 30 25
35 or more than 35 20
40 or more than 40 10

45 of more than 45 5
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31.

32.

33.

In the figure, ABCD is a parallelogram. Point ‘P’ divides AB in the
ratio 2 : 3 and ‘Q’ divides DC in the ratio 4 : 1. Prove that

OA =2 x OC.

A P B

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then

construct another triangle whose sides are — of the

corresponding sides of first triangle.

The length of a cuboid is 12 cm. Its breadth and height are equal
to each other and its volume is 432 cm® . Find the lateral surface

area of the cuboid.

OR

How many cylindrical coins of radius 07 cm and thickness

0-3 cm must be melted to form a cuboid of dimensions

B

6cmx1lcmx 14cm?
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V. Answer the following questions : 4x4=16

34. A person works in a shop from Monday to Saturday. His every-

day earnings are in an arithmetic progression. His total earnings

from Monday to Wednesday are Rs. 525 and Friday he gets

Rs. 100 more than his Monday’s earning. Find his everyday’s

earning.

OR

The angles of a quadrilateral are in arithmetic progression. If the
sum of a pair of opposite angles is 130°, then find the angles of

the quadrilateral.

35. Find the solution of the given pair of linear equations by

graphical method :
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36. There are two vertical towers on a level ground which are 300 m
apart. A soldier in an helicopter above the ground observes the
top of the towers and he found the angles of depression to be

60° and 30° as shown in the figure. If the height of the taller

tower is 500 m and the distance between the foot of the shorter
tower and the foot of the altitude from the helicopter to the

ground is 10043 m, then find the height of the shorter tower.

[ Take +/3 =173]

P H Q, N
60° 30°
«
A
v
500 m
L
B —
1003 m< D

F——>300 m «<—

37. Prove that “In a right triangle, the square of the hypotenuse is

equal to the sum of the squares of the other two sides”.
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VI. Answer the following question :

1x5=5

38.

The volume of a cylinder is equal to 5 times the volume of a cone.

The base radius and slant height of the cone are 7 cm and 25 cm

respectively. If the radius of the circular base of the cylinder is

14 cm, then find the volume and curved surface area of the

cylinder.
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